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QUESTION 1

Given: 

What is the result? 

A. The compilation fails. 

B. 1.99,2.99,0 

C. 1.99,2.99,0.0 

D. 1.99,2.99 

Correct Answer: A 
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QUESTION 2

Given: 

Which two statements can be added at line 1 in Bar to successfully compile it? (Choose two.) 

A. public List foo(Set m) { ... } 

B. public ArrayList foo(Set m) { ... } 

C. public List foo(TreeSet m) { ... } 

D. public List foo(Set m) { ... } 

E. public List foo(Set m) { ... } 

F. public ArrayList foo(Set m) { ... } 

Correct Answer: BC 

 

QUESTION 3

What is the result? 
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A. 357 

B. 35 

C. 235 

D. 2357 

E. An ArrayIndexOutOfBoundsException is thrown at runtime. 

Correct Answer: A 

 

QUESTION 4

Given: What action ensures successful compilation? 

A. Replace public Color(int c) with private Color(int c). 

B. Replace int c; with private int c;. 

C. Replace int c; with private final int c;. 

D. Replace enum Color implements Serializable with public enum Color. 

E. Replace enum Color with public enum Color. 

Correct Answer: A 
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QUESTION 5

Given the code fragment: 

var pool = Executors.newFixedThreadPool(5); 

Future outcome = pool.submit(() > 1); 

Which type of lambda expression is passed into submit()? 

A. java.lang.Runnable 

B. java.util.function.Predicate 

C. java.util.function.Function 

D. java.util.concurrent.Callable 

Correct Answer: D 

Reference: https://www.codota.com/code/java/methods/java.util.concurrent.Executors/newFixedThread Pool 
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